ID: 1
Geometry Name

Assignment Date Period

Find the distance between each pair of points.
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Answers to Assignment (ID: 1)

1) A 2) A 3) D 4) C
5) A 6) B 7) A 8) D
9) C 10) A 11) D 12) A
13) C 14) C 15) D 16) C
17) A 18) B 19) A 20) A
21) A 22) D 23) A 24) D
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Geometry
Assignment

Find the distance between each pair of points.
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- gsgsgsnath-wserbsheeh.oryg

math-worksheet.org



Answers to Assignment (ID: 2)

1) B 2) B 3) D 4) B
5) A 6) C 7) A 8) D
9) A 10) B 11) A 12) A
13) C 14) A 15) A 16) C
17) B 18) A 19) D 20) D
21) A 22) C 23) B 24) D
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ID: 3
Geometry Name

Assignment Date Period

Find the distance between each pair of points.
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21) (—ll, 11) (z 1) 22) (_11’_1) (2232)
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o A/2085 D) A/11401 o 2965 D) A10321
30 60 10 20
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3 3 6 30
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3 3 6 30
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Answers to Assignment (ID: 3)

1) C 2) B 3) B 4) B
5) C 6) A 7) D 8) D
9) C 10) A 11) B 12) A
13) A 14) A 15) A 16) A
17) D 18) B 19) B 20) D
21) D 22) C 23) A 24) C
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Geometry
Assignment

Find the distance between each pair of points.

o[

N 114 N
A) B) 877
6 6
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C) —— D) ——
6 6
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3 (351], (2.2
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2 gegss path-wsorlsheeh ory
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Name
Date Period
1 1 4
2) =, ——| (4, ——
6 4 5
4695 \ 66469
A) B)
30 60
3945 A/ 53989
C) D)
30 60
1 .1 1 1
4) (-1=,3—|, [-1=,3—=
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A) B) —
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C) —— D) 5i
6 12
2
10) ——,—ll, -2, —2E
3 3 5
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A) B) —
15 5
761 285
C) —— D) ——
15 15
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< 15 12 12
% 113 Af17 1913
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J197 o3 \185 V115
A) —— B) — A 8)
p p 4 10
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C) — D) —— ©) V)
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7185 154831 A/ 141 A/1129
A) B) A) — B)
30 60 6 12
8265 115201 111 865
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Answers to Assignment (ID: 4)

1) C 2) D 3) C 4) C
9 D 10) C 11) D 12) D
13) B 14) D 15) B 16) B
17) A 18) C 19) A 20) C
21) D 22) D 23) D 24) A

2 gegss path-wsorlsheeh ory

math-worksheet.org



ID: 5

Geometry Name
Assignment Date Period
Find the distance between each pair of points.
2 2 11 4
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4 NE 21 -
pp Y2y N p2L g Y2
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4
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A) B) A) —— B)
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1 4 1
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N 42 27765 2773 2
A) —— B) —/: A) — — B) £
3 3 3 3
1 6 58
c) N6 D) 1— C) V6 D) -
3 3
4
17) =, 2], —12,—z 18) _3 52 (2,1)
3 6 5 2" 75
5190 A 190 N 601 \3161
A) B) —— A) —— B)
30 10 10 10
221 \'15109 790 N290
C) —— D) C) —— D)
10 30 10 10
3 .5 7 2\ (.3
19) (2,4), (1=, 2= 20) (=, -=), (1=1
69 (15.2() o5 0%
42169 N 6510 N31921 \2085
A) B) A) B)
30 30 60 30
12889 5790 1785
C) D) ) 1°L D)
30 30 60 30
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o 1SS \es ) V830 5 V143
12 6 10 2
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6 6 10 10
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375 2 27\
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Answers to Assignment (ID: 5)

1) B 2) C 3) C 4) B
5) D 6) B 7) B 8) C
9) B 10) D 11) B 12) B
13) A 14) C 15) B 16) B
17) D 18) B 19) A 20) C
21) B 22) B 23) A 24) C
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Geometry
Assignment

Find the distance between each pair of points.

(03} (-3

N N2
A) 87 B) 3
6 12
265 433
C) —— D) ——
12 12
7 1
3) [-—=, 3l v =, 2
5 2 2
1
A) 3106 B) 586
10 10
110 N 85
o == D) =2
5 5
8 3 3
5) s b 52! -
52 6 2
N 24229
A) 782 B)
30 30
75721 6690
C) D)
60 30
1 1 1
7 (22,34, (L 2L
474 3 s
N 137194 N 108154
A) ———— B) ———
60 60
5430 1605
C) D)
30 15
17 2 5
9) _3_1 i I 3_1 -
6 6 3 3
87 \V 1970
A) 27 B)
3 6
1522 2
o oy V2
6 2
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Name
Date Period
7 9
2) [2,—], [-=, 1l
4 5 2
N 4241 )
20 10
A/5801 A/ 355
C) D) ——
20 10

/1455 6495
A) B)
30 30
4885 N 116477
C) D) — ——
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A B
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C) — D) ——
4 6
5
10) (21,2}, (1,12
2" 3 4
\N177 129
A) — B) —
6 6
1765 2005
C) D)
12 12
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1) (_3%, %) (1,-2) 12) (2% 13)’ (3 1)

4 \2'6
\794 /57 \93 505
A) — B) — A) — B) ——
6 3 6 12
273 290 /2833 5-/3
c) =2 D) — = Q) D) =2
3 6 12 6

77/51 \2501 \/59821 6105
A) — — B) A) B)
12 12 60 30
) \/5141 ) V303 o /80629 D) N 95149
12 6 60 60

- A) B)
3 15 15
) N2 D) Va2 o V221 oy Vists
3 15 15
17) (2 —31) (31, 0) 18) (_21 _2), (l, E)

3 6 2 5/ 25
ARG p gy TS
o Nss6 o NSt o2l g

6 3 5
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25 6 3 575 \53
A A 1961 ) 190 " 1 ) @
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o) 7—’1/513 D) Z'5 02 p @
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A 130 210 1537 A 129
A) —— ) A) B) ——
15 15 12 6
10 27/30 195 5797
C) — D) = = C) —— D) = —
15 15 6 12
301\ [ 4 1 4
23) (=, 2=, [-=, -1 24) (-1,-5), [-= 1=
) (2 ) ( 3 ) ) | ) ( 6 5)
442 \/370 42241 \/6870
A) —— B) —— A) B)
6 6 30 30
\/39 110 \/5370 \ 10441
C) — D) —— C) D)
3 3 30 30
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Answers to Assignment (ID: 6)

1) D 2) C 3) B 4) D
5) A 6) C 7) B 8) A
9) B 10) C 11) A 12) B
13) C 14) D 15) A 16) A
17) C 18) A 19) A 20) A
21) A 22) A 23) B 24) A
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Geometry
Assignment

Find the distance between each pair of points.

2 (53]

Q) ’\/245 D) \/214

(23 )

27/330 V31586

A) =22 B)
15 30
N 95 N 16946
C) —(—— D)
5 30
9 5
5) (-2, 1), [-12,2
5 36
330 N 1770
A) —— B)
10 30
3041 N 10841
C) D)
30 30
1 1 1 1
7) T _3_ ) _2_y _2_
5 4 2 6
N 3045 N 131869
A) B) —————
30 60
\ 23269 \V 79381
C) D)
60 60

w5 gy Vi
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Name
Date Period
5 2
2) |-, -1}, 1i ——
4 5 3
23489 \ 795
A) B) ——
60 30
4245 1489
C) D)
30 60

A B
) 30 ) 30
o 6090 D) 6510
30 30
6 (5 24 (L1
3" 75 \376
41 A4
A) 98 B) 30
30 10
4170 9521
C) D)
30 30
3) 3,3 (L3
2° 76 \3" 3
778 A/51
A) — B) S
170 30
C) — D) 5
1
10 (L34 (G422
374 4" 4
N177 57197
A) —— B) — —
6 12
3961 773
C) D) — —
12 6
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p Y1741 ) 445 N A1t ) el
12 12 6 6
o) V203 oy V177 o A/ 14989 oy V4710
12 6 30 30
13) (—1— —) (3%,—1) 14) (%,3—), (0,2)
o A15529 o) A/ 110809 o) V965 o) e
60 60 6 2
15) (—1— 31) (—1 21) 16) (_2 _) (_33 _33)
5 5 75
A) A/901 3) A 16021 N @ ) 19973
20 20 2 20
C) —12:5 ) %i C) 3—]05—5 D) “;(313
17) (_22 _6) (l _Z) 18 (_12,12) (z 1)
3 375 6/ \3'5
A) A 13546 ) A/190 " \/514 ) A 12401
15 5 5 30
C) 27285 D) NT54 C) 4470 D) 2L
15 5 30 30
o[43) o) 29
A) A/4369 ) \/4710 " \/293 ) \ 105
30 30 5 5
0 /18049 by Y3210 o V533 o) <5
30 30 5
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21) (—31,—1) (l 2) 22) (_3i _31) (11 1)
6 3 573 \'s5'6
N ) g A) @ 5 V1Y
o 26 oy 3118 o A15109 o) V6
2 6 30 2
e of
6 6 2\ 2
N /6789 ) 610 N 205 . 136
30 10 6 6
o 20189 oy V6989 o Y102 oy V713
30 30 6 6
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Answers to Assignment (ID: 7)

1) B 2) D 3) D 4) B
5) C 6) D 7 C 8) A
9) D 10) B 1) A 12) C
13) D 14) B 15) A 16) D
17) D 18) B 19) C 20) C
21) B 22) B 23) C 24) A
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ID: 8
Geometry Name

Assignment Date Period

Find the distance between each pair of points.

1) (—1, 13), (o, —21) 2) (_117 _21), (_211 2)
5 2 6 5 23
R ot g
Q) 1781 D) 510 Q) 8739 D) 105
10 10 15 5
o o3} [33) 9 (53} b23)
4l "33 2
A) /785 ) A1073 " \/205 ) st
12 12 4 2
oV N o s N
4 6 4 2
5) (—3l —1), (1l —l) 6) (_i, 2), (_31, 11)
2" 3 3 5' 5
nEE e L
C) @ D) —?9 ) 1—111—_5 D) —16573
TR b0 ]
A /655 B) A/ 155 N @ ) @
10 10 2 2
61 9061 775 565
AT ®) % = 0
9) (-2,4) (1— 1) 10) (o % (o 23)
A ATTREEY; R TTRC]
2 2 6 6
85 3711 1 7
0) - D) =~ C) 3— ) 2>
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o pT 0% D
13) (_g %) (o, —3%) 14) (% 1%), (_31 _2)
WIS B & @ Ty
0 e SR )5
15) (_é 3)1 (3, 11) 16) (——’—1) (_31 _2)
5’3 \5 3 2
A) @ B) 1+ NI B @
17) (o, 11) (3, o) 18) (21 —1) (i 1)
6/ \2 6 23
A) N 2041 ) Z/E A) \/5 B) Zé
60 3 >
0% DS e
19) (2’_1 (_ 1 25) 20) (l, _23) (11 31)
53 72 2 22
o if):z,s o) ?;2(3)69 Q) 16405 D) 2%
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a Y B) A) A7 B) —
6 6 ;
1405 505 A/ 101 65
o) D)~ 975 Py
6 6 3 .
2 1 1 1
23) [-22,0), (0,1) s
p 3 2 3
6389 253 35 7>
A) B) ~ — AN Bag
o 6 2 12
138 5713 87 A/5933
C) —— D) — — © ®)
p p 6 12
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Answers to Assignment (ID: 8)

1) C 2) B 3) A 4) C
5) D 6) D 7) D 8) C
9) C 10) D 11) C 12) A
13) D 14) B 15) B 16) C
17) C 18) D 19) A 20) C
21) C 22) C 23) D 24) D
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ID: 9
Geometry Name

Assignment Date Period

Find the distance between each pair of points.

> (33} i) deien

2
Al510 AJ601 J3405 /41899
A) —— ) —— A) B)
15 15 30 60
690 2409 /50629 53149
c) 122 D) =22 ) D)
15 15 60 60
23\ (1 1 | 1
3) (-12,2), [= -3~ 4y (=12, 3=, (-1, -~
4 (3 % ! 4
A213 2785 82 AJ30
A) —— B) A) — B) —
6 12 3 3
1097 A12781 7713 6
C) D) C) — — D) — —
12 30 6 3
2 1 11 1
5) 3.2] [-12 211 6) (<11 21) 2221
3 56 1% 6
21 A22069 \J3065 73
A) — B) A) B) — —
10 30 12 6
5790 2490 2343 |
C) D) C) D) 4—
30 30 12 12
1 2 1 1
7 (21 22 (23 2L 8) (2=, 2 [2,-1=
573 1 2
720069 AJ2055 299 /8989
A) B) A) —— B)
60 30 20 20
A12829 1546 635 349
C) D) C) —— D) ——
60 12 10 20
4 1 4 11\ (31
9 (=32, 0], [3= -2 10) - -, [32,=
5 43 2 2 s
J7489 5311 \J9s 1649
A) B) A) — B)
60 60 5 10
/185329 7545 1234 470
C) D) C) D) ——
60 30 10 10
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11) (3, —25), (11, —2i) 12) (g—i), (Z, 1)
5 76\ '3 s 57 2 \a
\37397 A/ 7890 3581 V345
A) B) A) B)
30 30 20 10
\197 2 305 2621
—30 2 10 20
6 1 2 4
13) (21) (215 14 EL 52
(1) (3 13) 1. (5
5 34 221 ~/34
A) 55 B) ﬁ A) —— B) 3_ 3_
15 15 4 >
4105 A 13 2117 2730
C) D) —— ©) D) =5
57 1 12
15) (2, 7) (=112 16) (0,2), (=
6 6 54 43
32069 A2055 A'1015 \/57
A) B) A) B) —
60 30 12 6
\/5069 1455 N 87 265
C) D) A AT
60 30 6 12
21
1) (1,12), 22,22 18) (-35) (9323
4 \"3 75 32 2 2
A 1095 N 104569 \ 174 \949
A) B) A) — B) ——
30 60 6 6
A 10729 A 1905 258 433
60 30 6 6
1 1 9 1
19) (2,32, [22, -2 20) (2. 1= (=1, =2
) (239 (233 ) [p1g) 12
A 40426 A/ 1906 7
A) B) A) V7 B) 2
30 30 2 2
2130 V4562 7 313
C) D) C) £ D)
15 12 4 4
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\105 /555 \11 \123
A) —— B) —(— A) —— B) ——
5 15 2 6
281 769 1385 305
C) —— D) —— C) D) ——
5 15 12 12
3001 1 4\ (11
23) [-2,31) (3112 24) [2,1=), [-= =
2’73 37 s s\ 22
\/5729 \/8790 \794 \754
A) B) A) —— B) ——
30 30 10 10
\ 13954 3210 \/95 \/30
C) D) C) — D) —
30 30 5 5
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Answers to Assignment (ID: 9)

1) D 2) C 3) B 4 A
5) B 6) D 7) C 8) B
9) C 10) B 11) C 12) D
13) D 14) B 15) C 16) D
17) C 18) D 19) A 20) D
21) D 22) C 23) A 24) A
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ID: 10
Geometry Name

Assignment Date Period

Find the distance between each pair of points.

o[ JRPIES

A N2 8) <6 py Y2985 SIE
2 15 15
274 /21001 2341
0) = D) V33 0) ~ D) ~
o (253) (1513) 2 (33) B3l
33\ 3 2 42 \3'4
JAE o NE 8
6 2 12 6
o 37 oy V773 o V138 oy 37106
6 6 6 12
o2 51 o bl (1]
N 205 ) /50245 N A 17581 ) 771549
30 30 30 30
o V187 o /8790 o A 11130 oy V3570
30 30 30 30
n(5s3) 55 0 (2:3) 3
6 6'3) 4
py 42 5 V593 N 617 ) N237
3 3 12 6
\o3 105 5105
0) - D) /5 0) ~— D) ~
9) (13, 0), (23, _31) 10) (zi 11), (_3—, 6)
5 573 52
p V30 ) /5749 N \221 ) /2355
3 15 4 15
o) N160s 0 \109 o \12626 ) /50266
15 3 15 30
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11) (l, 11) (_5 _1) 12) (11,_3), (13 0)
22l e 27 2) 4
A V158 B) Vo A Y205 B) V37
6 6 4 4
C) @ D) 22 C) \/_7 D) i
6 6 2 2
13) (i —21), (—2—, o) 14) (l, l) (_3 _2)
23 272
A) V29 B) ~ 2 A) g B) \/?g
o V13906 7306 o Nass A3
30 30 6 6

Vg S
- 26 by V12461 o V102 o) 66
15 15 6 6
17) (1 Z), (11 25) 18) (_z,_l) (31 _4)
4 6 4 6 3 6
py Y109 ) N8 p 171 5 V318
6 6 6 6
c) N7 D) 5 493 77145
c) V-2 p) 22
3 12
19) (2 —63) (—2— oL 20) (2,_1) ( l)
5 3 3 6) T4
) V57269 ) \/56019 py 1717 . 165
30 30 12 6
o) V43989 by V1010 o /305 o) A7
30 10 12 2
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c) M7 D) \/5 C) 2 D) @
23) (—6, —33) (—z i 24) (2, _31)’ ( 1 _l)
26 573 72 s
) Y231 gy V12589 p Y174 ) 53713
6 12 6 30
o 31245 o) g o \/131(;137 \/218
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Answers to Assignment (ID: 10)

1) C 2) D 3) D 4) A
5) B 6) B 7) B 8) A
9) D 10) D 11) D 12) B
13) C 14) C 15) C 16) A
17) A 18) A 19) C 20) C
21) C 22) B 23) C 24) C
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